Instruction Manual ##«=m
Item Number:000055

E_sky’

RC Electric Micro Helicopter

WY

MRS
ERRME: ©460mm

SERE: 49410

S 510mm, FE: 110mm, %: 260mm

BHRS: 3705iA%2pcs

4B RTF

REH: RENBERSH CEHEFHX, )

BRERG: BRM=8—2% 8

{ABREE: (ER: 7.5g . HA: kg om HE: 0.1s/60° )

B5th: 1.1V 800mAn{Z A it

FORERCE: 0.6A TR, BRFERS. TR #FAR.

Specification:

Main rotor diameter: ®460mm

Weight: 410g

Size: Length:510mm,width:110mm, height:260mm

Power system: 370 motor*2pcs

KIT/ARF/RTF: RTF

Transmitter: 4 CH (including training switch and simulator port)

Mix controller: 3 in 1 controller

Servo: Digital servos 7.5g,Torque:21kg.CM,Speed:0.1S/60°

Battery: 11.1V 800mAh Li-polymer battery

Standard accessories: 0.6A charger. adaptor. 2 pairs of spare oars.
4°AA” batteries

REANT0RH, MFERE, FREKY sBEAHH THTFRBARTHE BEFORTEANNER UTRE ISRALDIE X%

MARES/ FELLERFR TUEEFRAR S UTRS. BN EERANMWIMER. EMAER T LUETEN T

Product features:

Driven by two 370 super motors, equipped with digital servo and updated Esky 4ch transmitter/ The copper counterweight of flybar stabilizes provides
heli in various flight states, silk-printing process provides bright colored & high lustrous canopy/ New strengthful landing skid, suits in various take
off & flight conditions and is helpful to the beginners. It s able to fly outdoors in'breeze.

The operation guide before fly B R ES

- @y

Construction schematic diagram to inner equipments

HERBREREER

Frisf@ma
Elevator servo
EsZ
Motor(back)
LIPS
Motor(front) Alleron servo
i
Receiver
=&—opa Y oy
3in1 controller

connector

Y

#1334 Motor(front)
#0

ERix K
CH 1 Aileron stervo ERfEESEED bl gg;or:(ebcigr)
or

connect

5, o
et 5y T e
Step 1 Step 3 I— ErY e TN CETR steps EN SSmm
Charge the battery Tum the transmitter on. Set the throttiestick and the Plug the battery into the battery Permanent light of grean light is
LT e NFRMNEN throttie trim to the lowest pOSION  Joad of 4-in-1 wint ready to fly
BATHERNBTH

and other trims to the center point o
ERIBFRRANERE Ke HEEFNRE
AAELE D

RIS
Motor(front)

IR PR
Aileron servo — 5 '
-
#3
-

FriefanREE
Elevator servo

Bt
Battery connector




Exploded view

= 2R AE

o Description Qtyneed | specification
001 | # E$EStabilizing weight 2
002 | B2&E3RBalance weight 2
003 | #&3% 3% Switching brainpan 1
004 | FRH#FFlybar 1
005 | #7L$2#FB Control link B 1
006 | FZk2®4FScrew wio head| 1 M2+10
007 | g7L44FA Control linkA| 7
008 | E£AE4E KA Inner shaft A 1
009 | ms+3@Round cross screw] 2 1SO1.443
010 | $4FDowel 4 @345
011 s screw 4 M2#10
012 | £#RA Plasticblade A 2
013 [A7ARLInner hexagonal screw 4 M2#8
014 | FH®FkkMain bladeclamp | 4
015 | E3BA Main axis A 1 | o388
016 | #¥s&Rolling ball bearingl 2 | @3+@e%25
017 | $47&EEBearing set collar 1
018 | £#H®B PlasticbladeB | 2
019 | Zsksm#¥Screw rod wio head 2 M2%20
020 f:ﬁ:r%:ﬂ :«is, s%ew with round head 2 M2+3
021 | E#E%4A Inner shaft A 1
022 | iR &inner 1
023 | #isish&Outer 1
024 | £%B Main axis B 1 ©4°05"149
025 | ZfFRFix collar 1 |esei0s
026 lﬁr\%ﬁi‘gﬁgﬁl screw wio head 2 M3'3
027 | Z%%%&Rolling ball bearing| 2 | @5+@8+25
028 | #1%=Main frame 1
029 | msxAFAAiframe linkbarA| 1 | 22+70mm
030 | ##FPush-rod 2 ¥2829
031 | 9B Servo 2
032 | BixMotor 2 370
033 | Esk+F48£Round cross screw 4 1503. 0+5. 8
034 | £3j4#Main motor gear 2 M=0.5 T=11
035 | =A—+E4H"3in1"+Receiver 1
036 | &Kk Sidestep lushion 1 O540B45.5
037 | ¥5%8B Gear B 1 M=0.5 T=120
038 |l st toat swm it omdbead] 2 M2'2.5
039 | #5%A Gear A 1
040 | 5% EEHGear fix collar| 1 3408411
041 | BiZERubber sheath 4 |onseo3m
042 | 15X 48 Airframe link bar B| 1 ©2+100mm
043 | #r=5t22Front battery holder 1
044 |@%+3485Cross umbrella head screw 8 M2#6
045 | E=;t2eBack battery holder 1
046 | $8&tLi-polymer battery| 1 11.1v800mAh
047 | iBHESkid set 1
048 | #FAirframe 1
049 | &kFHHorizontal fin 1
050 | R#EH Tail rotor blade 1
051 | #4B Spacer B 4 23, 142640, 8

MU KA



Spare parts picture

001367

E_Sky’

001337 001336 000512
EHH FEUHL =5— L2 RIS ACER
Transmitter Receiver “3in1" Li-polymer battery Switching adapter
000155 000152 000204 000837 000838
L J a
o S
" 1T (11T
{ERRE g%i&ﬁ B THHE GEYY: EBXE
Servo harger Allen key/paster strap Motor(front) Motor(back)
000659 000648 000649 000654 000196
4 se
- “A - :=.~§. T @ o
L 4
i
D3IxP6x2.5
==E B % 7Y
Sta*ﬁgfli%er set Cen%aﬁrih!&l?-s"et A Cen%e?fﬁg-sit B Sgewfet B?;fﬁ;"lg
000655 000647 000839 000650 000651
- vYevy
Lilisitd
D5xD8x2. 5
S EEH - Z
Bgﬁg Plastxc blade A Plasnc blade B Mainzbgd;égc-lamp Diﬁﬁgg%g'rﬂset A
000652 000653 000656 000657 000658
B ) Y 'ARR
o 88480 3848
— % = - .
D%v?g;g S%g'rgse! B Swagﬁéﬁ;e set ?;eanng fixed set Single%\zll'&ﬁsh rod Ringé{ljiln?kL ﬁ:ﬁnrod
000660 000661 000662 000663 000664
! - t" :\-
B R XA MR BARE HLFEE
Battery hanger set Cabin shore set Main frame Landing skit set Canopy

BHXE




Main blade angle of attack adjustment

ERRELANAE

-

\

Main blades are not tracking in the same ‘plane BEFIM{ELIRE, ma#;yz;zu—tsa ’ Main blades rotate in same plane
IRRERFER—FE Brshias. EELHE. Please adjusting FRERERER—FE
the main blade like this way until the tips

are tracking in the same plane

2 AGiEzi&#% About 2.4G system

EHCZASAEFMNERRZRBIAMVETM, FTABMBR.
ERIERAARAT:

FIFESHEIERE, FIASHN2 ESETORNGE  ZRERTEAFVREZNREBIINES, W TR2 6RTIEFIBAA
BEAESNRRLEBERE: BREANA—8F, NENE—2 ESETTANGEHAEAER, RTCRINKEBENET
EA%AT -

?Tiﬂ‘va%ﬂle EEEANRE, NDE—ESEFTRNFERRZERR, RAFBHHATELY, BERDNENRRDBIIN.
1.30{AT 3 E
KIR G
FBENA—BIR
FERTI SRR TT K LIR(E1-270,

MmA&—LEDATSRIBIAGF AL, RTHBETA-
2 BRI

EEFNES—RE, BHENs—8F, ESETMBNGERTERNEERENSE, XRNTFEFIERE NE—{ESETT
RIBATARA, ABRAHES, RFRMBEY. CIE: XSNAEETFESRRNIRDEAR, NRVDREE—LEANEK
2/, FEFTFRSNEE. O

Binding for RC System of each model has been completed in factory, without needing to debug again.
Normal operation manifested as below:

Power on the transmitter, the indicator of 2.4G transmitter will twinkle for 3 seconds, which indicates that transmitter is sending code
binding information. After 3 seconds, the twinkling 2.4G transmitter indicator becomes solid, indicating that sending the channel data; Then
connect the 4 in 1 mix controller, observe the 4 in 1 mix controller, 2.4G transmitter indicator twinkles two times and gets solid, which
indicates that the reception of the channel data is successful and are ready to fly.

Turn on the transmitter and power on the helicopter. LED indicator of 4 in 1 mix controller go out after twinkling two times, indicating that
binding is failing and need to unbind firstly and rebind.
1.How to unbind?

Turn off the transmitter,

Connecting the battery to 4 in 1 mix controller

State indicator

Bind keystoke

Press the bind keystoke for 1 or 2 seconds

LED indicator of 4 in 1 mix controller will twinkle constantly, which indicates that unbinding has completed.

(As shown in the right picture)
2.Rebind

Firstly disconnect 4 in 1 mix controller, then connect the 4 in 1 mix controller to the power. the state indicator twinkles slowly, which
indicates that 4 in 1 mix controller is receiving signal. Then Power on the transmitter. if the indicator of RX display from slow twinkling to
rapid twinkling, then solid, which indicate the binding is successful.(Note: transmitter just will transmit code in first 3 seconds, if 4 in 1 mix
controller can not receive code within 3 seconds, please turn on the transmitter again.)

zawm A
1FTF L ST IR & SIS SHERATERI3H W INIFS0R A BEBXISART 8], SRADISARIETATER
GEE: ERBIESR, LAXFENES—RIR, ARTAERHFNER) .
2 FERBIAF RN, NE—ESERTNGEHRERL.
3EBFEMRESAETRAMMAE. HESFRMSREE. BEGE FRKMHERRETREN, MURRERR—REBMNEZRE
4. F5—RERBI AR AEFG RGN RIFITH -
Remarks:
1.Power on the transmitter, indicator twinkles 50times within 3 seconds of binding period, the indicator get solid after the binding.(Please
note that in the process of binding, first connect the or 4 in 1 mix controller before powering on the transmitter)
2.If binding is not successful, the indicator of 4 in 1 mix controller will twinkle two times then go out.
3.Since different manufacturers have different frequency band, channel and different coding and decoding method, so different products
are incompatible, all RC system should be under the original trademark.
4.Do turn on the transmitter once again in each binding.



